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Sample question

(a)	 Study Fig. 1.

Fig. 1

	 (i)	 What is a census?� (1)

	 (ii)	 State two pieces of useful information a government can gain from a census.� (2)

	 (iii)	 Give three reasons why many LEDCs do not carry out a census.	� (3)

(b)	 Study Fig. 2.
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Fig. 2

	 (i)	 Describe three differences between the MEDC population pyramid and the LEDC population pyramid.� (3)

	 (ii)	 Suggest why the MEDC pyramid has a different shape.	� (4)

	 (iii)	 Explain the ways in which a government can increase the size of its population.� (5)

(c)	 For a country you have studied, describe the policies used by the government to reduce rates of population growth.� (7)

� (Total 25)


